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تمرینهای 1 و 2:
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تمرینهای 3 و 4: 
[image: ]
[image: ]

[image: ]

[image: ]
[image: ]
[bookmark: _GoBack][image: ]
image6.emf

image7.emf

image8.emf

image9.emf

image10.emf

image11.emf

image12.emf

image13.emf

image14.emf

image15.emf

image16.emf

image17.emf

image18.emf

image19.emf

image20.emf

image21.emf

image22.emf

image23.emf

image24.emf

image25.emf

image26.emf

image27.emf

image28.png
(The ions that are reacting are shown in red type.)
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Now. what happens if you substitute a solution of lead(Il) nitrate. Pb(NOs),.
for the KNO;? The reactant ions are Na™, I". Pb>", and NO; . In addition to the
two soluble reactants, Nal and Pb(NOs),. the other two possible cation-anion
combinations are NaNO; and Pbl. Lead(II) iodide is insoluble, so a reaction does
occur because ions are removed from solution

2Xa (ag) + 21 (ag) + Pb**(ag) + 2NOs (ag) —> 2Na" (ag) + 2NO3 (ag) + Pbx(s)

A close look (with color) at the molecular equation shows that fhe ions are
exchanging parmers:

2Nal(ag) + Pb(NOs)y(ag) —> PbIy(s) + 2NaNOs(ag)
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and Nal. When aqueous so

ionic
solid Pbl, forms.





image47.emf

image48.emf

image49.emf

image50.png
Solubility Rules for lonic Compounds in Water

Soluble lonic Compounds

Insoluble lonic Compounds

1. All common compounds of Group 1A(1) ions (Li ", Na ™,
K", etc.) and ammonium ion (NHy ) are soluble.

2. All common nitrates (NO3 ), acetates (CH3COO ™~ or
C,H30;, ). and most perchlorates (CIO; ) are soluble.

3. All common chlorides (C17), bromides (Br ). and
iodides (I7) are soluble, excepr those of Ag*, Pb>*, Cu*,
and Hg,? " All common fluorides (F ™) are soluble,
except those of Pb?* and Group 2A(2).

4. All common sulfates (SO4> ") are soluble, except those of
Ca?*, s, Ba®", Ag", and Pb?*.

1. All common metal hydroxides are insoluble, except those
of Group 1A(1) and the larger members of Group 2A(2)
(beginning with Ca>™).

2. All common carbonates (CO3% ) and phosphates (PO,> )
are insoluble, excepr those of Group 1A(1) and NH, "

3. All common sulfides are insoluble except those of Group
1A(1). Group 2A(2). and NH, *.
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